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Idle Mode operation in GERAN
1 Introduction

This contribution try to figure out the necessary actions when the CN interface changes while a cell reselection occurs.

2 Why should the CN be aware of the interface change

There are a number of reasons why the Core Network should be aware of which mode, A/Gb or Iu, the MS is operating on.

The first and more obvious is that there are two Core Networks, 2G CN and 3G CN, and that the VLR in both MSC and SGSN differ in 2G and 3G (see 24.008). Therefore a R4/5 MS in Idle mode should have a database in the VLR which corresponds to its currently working mode. One example is on security parameters which differ in 2G and 3G, and these parameters are obtained at attachment or at Location Registration. Another example is that a MS in Iu Idle mode can have already established multiple RABs, whereas there is not such RAB notion on the Gb interface.

Another important aspect is that the 2G and 3G MSC, the 2G and 3G SGSN, can be different nodes (functionally if not physically). So the interface to use when paging in the downlink should be corresponding to the MS mode of operation. Otherwise, it is hard to see how a paged mobile could actually send an answer to paging to a CN edge node (MSC or SGSN) which is not the one which has actually performed the paging e.g. a MS is paged by a 2G SGSN, and answers in Iu mode towards a 3G SGSN.

As a consequence, a MS changing mode while being in Idle mode i.e. going from one cell supporting one mode to another cell that does not support this mode, should perform the same procedure as a MS going from UTRAN towards GERAN and vice-versa i.e. inform upper layers for appropriate action e.g. Location Update.

Nevertheless, this necessary procedure should be balanced by the fact that if GERAN design continues to respect the requirement on legacy equipments, a cell that does not support GERAN R4/5 should not be a common case.
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